Total No. of Questions : 10]

DICS31
B.A./B.Com./B.Sc./ BHM/BBA/BBM DEGREE
EXAMINATION, JUNE/JULY -2019
Third Year
SCIENCE & CIVILIZATION (Part-1)
Time : 1% Hours Maximum Marks : 50

SECTION - A (2x13=26)
Answer any two questions

Q1) Explain in detail about paleolithic age.
FOBTORE AB0M5050 K0y D[ DDHB0EH00.

02) Describe Babylonian numerical system.
BAEIADS T500 Dogrg AF°BHR DSOoL0.

03) Write the importance of vitamins.
DI [ErrE0gr58R0 DSOOTO[0.

04) Give an account on the invention of wheel.
BEH0 G300%), SA[GE D 2.8 TGOBB0 (@°0K050.

05) Explain the problem with conventional energy source with suitable example.
TOEED 8 SBC0 BoR5e0 BTD &IOS DHBOER.

06) Give an account on artificial insemination.
5D MG Tes 1570y X008

SECTION - B
Answer any three questions Bx4=12)

Q7) a)  Gizah pyramid

Rz DEDE
b) Radio
[elees vy
c)  Stoneage
CPATONE500
d) ICBM
50.2.8).0000
e) Hybridisation
POETgE0
f)  Biogas

ZJCBJ"N’?S%



08)

29)

g) Freedom
?051513
h)  Vaccination
o3
i)  Planet
TAISESeS
SECTION - C
Answer all questions
Fill in the blanks :
a)  Osteomalasia is due to
Q@ 20BRALR B Hod HHy0.
b)  Full form of RADAR
36 D DoEB%0.
c) PVCisa
2.2.2. e 3.
d)  Function of cortisones.

?Q:@S(SQ Cﬁ)o§b§)@

Choose the correct word.

a)

b)

d)

Quinine is for

335 B T

1) Filaria i)  Fever

235"6§°§Oq> &5653\)

iii) Malaria iv)  Cold and cough
Slelovey 2300230 S00AT ¢

Diabetes can be treated with
3D 0 AT B3R DIy DO,

i) Bile juice i)  Amino acids
8BS 257D @%@58 ERVCR
iii)  Vitamins iv)  Insulin
Penicillin

200

8)  anaderde Be) oy
Nlo) ISV DeIVOD

iiil) Hormone iv)  Antibiotic
et &g ¥
Vitamin C

DEXD

i) Lemon ii)  Banana

@550& @663

B x4=12)



Q10) Match the following,

a)

b)

©)

d)

iii)  Nuts
Aoeseo

Paper
SHATINGY)

Anesthesia
D000
Oil

37

Water
DS

1))
2)
3)

4)

iv) Beans
ARG

Conventional energy
TR ¥

Non conventional energy
TORBTALSE ¥
Communication
PRS00
Surgery
T V8L

¢4 60



Total No. of Questions : 12] DBMAT31

BA DEGREE EXAMINATION, JUNE/JULY -2019
Third Year
Mathematics - III : Rings and Linear Algebra (Part - II)

Time : 3 Hours Maximum Marks : 70

o1

02)

03)

04)

05)

006)

Q7)

08)

SECTION - A (8 x3=24)
Answer all questions, Each question carries 3 marks.

Show that every field is an integral domain.
BF(SB500 IFTOE PERFID SITEDP0.

Show that the intersection of two sub - rings of a ring R is a sub - ring of R.
$o0H0 R & Botd &550a57e 55500 R & 85000501080 $550d.

Let / be a homomorphism from a ring R into a ring S then show that

a) f(0)=0

b) f(a)=-f(a)VaeR
R e85 Soaho 0006 S e SoahBoasth e 08085 eo0od

a)  f(O)=0
b) fa)=—fl@VaeR o3 srs0a.

Define Linearly independent and linearly dependent set of vectors.
S FBOSs HOFD, Koew DTG HOFOR> IS0,

Define Linear Span. Prove that L(s) is a subspace of V(F).
So2 DB AN, d&zoBceFo V(F) 5 L(s) &8 ero80°F0 &0l 700,

Define Range and Null space of Linear transformation T.
Soer 903850 T G0 775, WrgoBcrForsd ASI0S0G.
Show that the matrix

S
N

4 3}
DHQADH BB e B0,

is diagonalizable matrix.

Define Jordan curve.
TS SE0D0 ASGVODH0.



Q9) a)

b)

010) a)

b)

011) a)

i)

SECTION - B (4 x 11%=46)
Answer all questions, each question carries 11Y% marks

Show that a finite integral domain is a field.

HODS TP (HE3FH00, &8 FEBRoMDD BIDH0.

if)

If I, and I, are ideals of a ring R then prove that L+ ={x+iel.yel)

is also an ideal of R.

1, 55005 1,0 &5 B0 R i, ctioryes woud 1 T2~ F A e Ly el

@30 536 R @of) 3860 @ AET00s80.

OR
Show that a homomorphism f from a ring R into a ring S is a
kerf =(0)

monomorphism if and only if
R &30 $000500 006 S @b $00HhHodsd 8o f @by $S8o8s @35§

wsosrss  smerny Kerf=0)

ABINOSOCs.

Show that if f'is an epimorphism form a ring R onto a ring S then R/kerf S.
R 550 S000500 9508 S @0 Soahtonssd fel Soih SHosrhd @000

R/kerf'S 9 557508,

eSd Do Qo0 THLO e

Prove that the set of all ordered n - types over a field F is a vector space.
F %o 2 1 - 98T E0D 5O ToB0°FEHR0 BHBOOL BoPRHoc.

OR

If W be a subspace of finite dimentional vector space V(F), then prove that
dim{v/ w) = dim v—dim w.

2008 B35 ¥OT 0B FIE V(F) , &roSorsan eood

dim{v/ w) = dim v—dim w.

i)

€9 SBIHOCs.

A=

= pd e
e
[

Find A if



il)  Find the characteristic equation of the = matrix and
verify that it is satisfied by A.
D ITEE Booy, oEk DSSTHBD ELEIed. & oFEE DAoL

(3 éoé%é DBORBI0E BIB0Cs.

OR

b) 1) State and prove cayley - Hamilton theorem.
20 - 27098 JEToEBB (330D AETVOBOE.

1 2 3 4
A=|2 3 6 8
2 4 6 8

i)  Find the P(A) if

012) a) 1) State and prove Cauchy - Scwarz’s in equality.
£ - yf GHETPHES DERoSBK0 @SV DETBOHK00.

R={2.1.3)(1.2.3) (LLI)}
If _

i) is a basis of R®.
R={(2.1.3)(L,2.3)(L1.1)}
R3 8% _ 2.8 S50 @oNB 2l ©ogrdeo
IR0 DYoo,
OR
b) 1) State and Prove triangle inequality and also specify its geometric

interpretation.
DE0ez0 @DITHG $o00H0 TR esABAL DITEN®L KT HEPOE.

ii)  Apply Gram - schmt process to obtain an ortho - normal basis of R3(R)
from the basis {(1, 0, 1}, (1, 0,-1), (0, 3,4)}
R}(R) eoscresn @y, {(1,0, 1}, (1,0,-1), (0,3,4)} sprorods (rao -

P05 ©olEEs DGO T(0° LogrHece ST SRTHB0.
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DBMAT32
B.A. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
MATHEMATICS - IV : Numerical Analysis (Part - II)
Time : 3 Hours Maximum Marks : 70
SECTION - A 8x3=24)

Answer All questions, Each question carries equal marks

Q1) Construct the forward difference table given that.
800 96380 EOGBIRON HE IHD DgT75 e8> BOTEOBALOE.

x 5 10 15 20 25 30
v | 9962 | 9848 | 9659 | 9397 | 9063 | 8660

02) Evaluate
a) MAsin3xcosx

(&
| e |
b) Al =—=|
L e +e J
Devoiss 538706,
03) Evaluate
(AT
a | = |*
) E
by (ETA)X

Devois 538706,

Q4) If, Ly =3‘= i =12 iy =81 iy =2|:”:| iy =1|:”:] i =8:ﬁnd the Vahle Of fi‘idi:, )

uy =3, 14 =12, u, =81 u; =200, u, =100, u, =8 T Acu, N3350 §®§8b0&'

)

05) Explain about Divided difference and write their properties.

DeTRET OB 100D H508050 T3 $o7eko Fabod.



1

06) Explain Simpsons 3 rd Rule.

1
2056 3 1d oSy As0oEed.

2 1
—ck
Q7) Evaluate I3 by Trapezoidal rule.
a1
Zdk
2% oossso (Ee0006S A0 G200 K808 06
08) Interpolate the missing figures in the following table.

308 BeIEER 000D o (85080) o woBTHs0 T WBoBod.

X o 1 2 3 4 5
F(x) o - 8 15 - 35
SECTION - B (4 x 11% = 46)

Answer all questions, each question carries equal marks
09) a) i) Construct backward difference table from the data. Assuming third difference
to be constant, find the Value of Sin 25°.
Bod SToFoss EXABPAoY, BE TSN JgTrgd Beds0. AT, wots” 3 %

BTGy RO0E0 08’ Sin 25° Dot 58 ed.

sin 30° = 0.5000, sin 35° =0.5736, sin 40° = 0.6428, sin 45° =0.7071
i1)  Evaluate
1) A
2y (E+20E-D)ie +x)
Devois 538708,

OR

b) i) State and prove Newtons Backward Interpolation formula.
S50 BE RS eoBBEs STER) B3N ABTDoBOd.

il)  State and prove Lagrange’s Interpolation formula.
BIToED WoSBTES JTER) EHD0N AETVoBOG.

Q10) a) State and prove Gauss Forward Interpolation formula.
AR DT80 ©08BiEs SP@°R), (500D AEFhosed.

OR



b)

011) a)

b)

012) a)

Vg

i)  Use Stirling’s formula to find given that
W =35225,y;=4316., w; =3256. 1, =1926.
vy, =306

200R SPER) ESTTAOD, *° Jeuss o0 7DD oo eI KT,
% =5225.y5=4316. 3, =3256. y;;=1926.

V=306

2

ii)  Apply Bessle’s formuly find a polynomial function by given data.
8o &Toto G0 ByEy @) ed@TR0D TTA0HS ([FR0AIT 5808708

x| 4] 6 |8]10
v | 1|3 |8]20

Derive Newton’s cotes quadrature formula then prove Simpson’s rule and Simpson’s
rule.
éf’gé&% §°€S‘D S"csLaiSS WL@EO& D200, ?OOOVJJSQ 200w ?OOOVJJS‘D QDI
eV letnlotect

OR

fzy—x, yO)=1,
i)  Solve yi=y—x. yO=1. by Picard’s method wupto the fourth

approximation. Hence find the value of y(0.1) and y(0.2).

f=y—xt. =1,
Y=y YOS s s 356 500 oy o
approximation 35 y(0.1) 508k y(0.2) Deodeis 5508706k,

i—ﬁﬂ: ¥(Oy=1

ii)  Give that &
method.

. Find *? with #=02 yusing Euler’s Modified

i—ﬁﬂ: ¥(Oy=1

A=02 =2, D 3oy &
550808

& sanod 288 oo v )

i)  Find a real root of the equation using Newton Rhapson’s method.
Brgead - ODSGy DEBY GNATAcD  BABTo By, & TR Wred
550808



Find a real root of by iteration method.

DDBE DG TG0 D 2.8 TRD Jarerdy $88° 08

OR
Using Gauss - Jordan method solve the system ; .
TR - 00 DG &OBTAON

2x+ yv+z=10;

3Ix+2y+3z=18;

x+4v+9z=16;
SDESETOD80 FOOTOS.

Explain Gauss - Seidal method.
R - 2 3gBY Asdosed.

000



Total No. of Questions : 5]

DSENG31
B.A. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
English-III : Special English (Part - II)
Time : 3 Hours Maximum Marks : 70
Q1) Answer any ONE, in about 400 words. [14]
a)  Discuss the comic element in ‘Midsummer Night’s Dream’.
b)  Sketch the character of Hermia.
c)  Bring out the role of fairy world.
02) Answer any ONE in about 400 words. [14]
a)  How is samson tempted and why?
b)  Sketch the character of Dalila.
c) Discuss the tragic element in ‘Samson Agonistes’.
03) Answer any ONE in about 400 words [14]
a)  ‘The apple cart’ is a political satire by shaw. Discuss.
b)  Discuss the plot in ‘The apple cart’.
c)  Bring out the comical element in ‘the apple cart’.
04) Answer any Two, choosing one from each section. [7+7=14]
SECTION - A
a) Justify the title, the vicar of wakefield’.
b)  Bring out the sentiment in ‘the vicar of wake field’.
SECTION - B
a)  Discuss Narayan’s style of writing in ‘The financial expert’.
b)  Justify the title ‘The financial expert’.
05) Annotate any FOUR, choosing two from each section. [4 x 3% =14]

SECTION - A
a) My soulis in the sky.
b)  So fit your fancies to your fathers will;
c)  With duty and desire, we follow you.

d) That, in a spleen, unfolds both heaven and earth.



b)

d)

SECTION - B
The sun to me is dark,
And silent as the Moon.
That light is in the soul,
She all in every part;
The tread of many feet stearing this way.
For inward light alas,

puts forth no visual beam.

*00¢
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DSENG32
BA DEGREE EXAMINATION, JUNE/JULY -2019
Third Year (Part - 1)
English - IV : Language and Literature
Time : 3 Hours Maximum Marks : 70
Answer all questions
All questions carry equal marks
Q1) Answer any ONE in about 300 words. [14]
a)  Discuss the salient features of the Age of chaucer.
b)  Poring out the significance of the Age of Pope.
c) Describe the features of the Age of milton.
02) Answer any ONE in 300 words. [14]
a)  Explain the importance of the Age of words worth.
b)  Discuss the salient features of the Age of Hardy.
c)  Explain the important features of the Modern Age.
03) Critically comment on the achievements of any Two in 150 words 2x7=14)
a) Marlowe
b) Keats
c) Mathew Arnold
d) Pope
04) Answer any two, in 300 words. 2 x7=14)
a) Indian element in English
b)  American English
c)  English as an International Language.
d)  Grimm’s law and Verner’s law.
05) Define and illustrate any Four “4x3%=14)
a)  Antithesis
b)  Poethod
c) Zeugma
d) Epigram
e)  Metaphor
f)  Paradox

g)  Alliteration
h)  Pun



Total No. of Questions : 9]

DBSTT31
BA DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
Statistics - III : Applied Statistics (Part - 1)
Time : 3 Hours Maximum Marks : 70
SECTION - A 4 x12% =50)

Answer any four of the following questions

Q1) a) Inthe used notation show that Vl)e 2V, 2varTy)y

Srsares sdmos® T T2V, 2varlT)y e srpsio,

b)  Explain principle steps in sample survey.
OB $G¢E FEEHRN FTTesy DH00DHN.

02) a) Explain the analysis of one - way classification.
D5 - DG HOESED D48 JFeaso VD0

b)  Explain the meaning of the definitons of the ANOVA.
DB V0ed G30Y, 85200 AGTTH DIBODH0.

03) a) Explain Latin square design.
LSD Q 2560:500.

b)  Explain the statistical analysis of RBD.
RBD Goot), roggs D3:0g3 808008550

04) a)  What are the control charts?
ADOE5ED DeTL) LRSTTBAO?

b)  Explain the construction procedure X and R charts?
X s08ato R sere Domes 5500 D500:0500.

05) a)  What are vital statistics.
235 DPOPET O DR BeodHo0.

b)  Explain various mortality rates.
DG 5o8er Bexss K0y DBBO0.

06) a) Explain components of complete life tables.
30080 BB B 0¥ BOTBO IFOCHB.

b)  Explain functions of C.S.O.
C.S.0 GBoo%, Doeiso VBB,



Q7)

08)

29)

a)

b)

a)
b)

a)
b)

2)

h)

),

What are seasonal indices?
2200880 BIPDELD e9STTOD0 9

Explain Ratio to trend and Link relative  methods to determine seasonal indices.
208 rD%eKy APonoiiodss Ratio to trend $o0aks do¥ TPHFO B0

DB OHKB.

What is meant by index number? Write some of the uses of I.N.
Fishers index number in an ideal index number. Justify.
RO 5095 ITRN0? BIPDE Doy §'R) EXABIMTeby FEO0t.

PRGy BoDE Rogy e5ts) HIrDE Sogy BGoHR0.

SECTION - B (10 x 2 =20)
Answer the following questions.

What is sampling distribution.

FoDS DETe8SH00 SN 9

Define SRSWR.

SRSWR 553009

Bring out the main differences between ANOVA of one - way and two - way

classification data.
DEAE, B $65e $5T20¥ DX yD DBE0E’ (BEHS FEB0000 SO0

Give the process of randomization in CRD.
CRD & airesydn8stes o) 3oy,

What is meant by base shifting?
S 370G @RTIA?

What are the uses of control charts.
QATOEBEY 5EIB000 A320E), GBATTTY ({000

Crude death rate.
5008 B85 Bew

Uses 0f N.S.S.O.
N.S.S.0. &Sa3rren @@oojboo.

Moving averages.
D0B 5Gg8Te

Define Vital statistics.
2833 roPgER0s DgDODB.

*000
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DBSTT32
B.A. DEGREE EXAMINATION, JUNE/JULY -2019
Third Year
STATISTICS -1V
Operations Research, Computer Programming and Numerical Analysis (Part - II)

Time : 3 Hours Maximum Marks : 70

SECTION - A 4 x 12% =50)
Answer any four of the following questions

Q1) a) Define an O.R. models and give four examples?
b)  Find an optimal solution to the following transportation problem.

TO

D E F G Supply

A 42 4% 3% 37 160
From B 40 49 32 31 150
C 3% 383 40 43 290

Demand 80 90 110 160

02) a) Explain simplex method of solving L.P.P.
b)  Solve the following L.P.P. Graphically.
Max Z = 5x,+ 3x,

S.T.C.
3 +5x;, <15
5x+2x, =10
and
x5.x =0

03) a) Define game theory and types of game.

b)  Find minimax and maximin value for the following pay off matrix.

1 3 6
21 3
6 2 1
L= =1

04) a)  What are the advantages of Network (PERT/CPM)?

b)  Explain the significance of critical path and dummy activity in PERT/CPM.

05) a) Using Newton’s formula for interpolation,  estimate the population for the year
1905.



006)

Q7)

08)

29)

b)

a)
b)

a)
b)

b)

Year Population

1891 98,752
1901 132,285
1911 1.68.076
1921 1.95.690
1931 246,050

Derive Lagrange’s interpolation formula.

14 . .
l‘:” (sin x—log &" + & )ex
Find ~ using Trapezoidal rule.
Derive Simpson’s rule.

Explain the Gauss Seidal method for solving system of linear equations.
Find the real root of the following equation by using Newton - Raphson method.

x*—x-10=0
Explain about column charts in M.S. Excel.

Explain Data Entry in Excel.

SECTION - B (10 x 2=20)
Answer the following questions

Define optimality test in L.P.P.

What is pivotal element?

Define O.R.

What is Zero assignment in Hungarian method?
Write the characteristics of game theory.
Advantages of Network.

Define Inverse Interpolation.

Define backward difference operator.

Write formula of Regula Falsi method.

Write Weddles rule in numerical integration.



